
Model: KF 2105 COFFEE TABLE 
ASSEMBLY INSTRUCTION 

Model: KF 2105 COFFEE TABLE 

No 

1 

2 

No 

A 

8 

C 

D 

Part List 

Table Top 

Table Leg 

Hardware List 

JCBC Screw 

M6 Spring Washer 

M6 Flat Washer 

Allen Key M4 

COMPLETED 
ASSEMBLE 

QTY 

1 pc 

4 pcs 

QTY. 

� 8 pcs 

@ 8 pcs 

@) 8 pcs 

m 1 pc 

ASSEMBLY INSTRUCTION 

No 

1 

2 

No 

A 

B 

C 

D 

Part List 

Table Top 

Table Leg 

Hardware List 

JCBC Screw 

M6 Spring Washer 

M6 Flat Washer 

Allen Key M4 

COMPLETED 
ASSEMBLE 

QTY. 

1 pc 

4 pcs 

QTY. 

� 8 pcs 

© 8 pcs 

� 8 pcs 

ID 1 pc 


